I

Page 1 of 2

AMSTERDAM BED

Bed Assembly Instructions




AMSTERDAM BED

M6 x 40 mm

Mé x 70 mm

bolts

oooooo
mmg‘g”lu

side rails as shown using the M8 x 20 mm bolts and washers.

£
28 Z

Q
QO VW g L=
—

side rails to head board as shown with the M8 x 40 mm bolts and washers.

Fix foot board to

Step 2

Bed Assembly Instructions

Step 1

Fix

Page 2 of 2

Slat support

Allen Key 5 mm
M8 x 20 mm bolts

Fuotboard

Washer



